

4500094820 PO No.

Date: 10/18/2017 Page 1 of 7

Ship To:

STREETS DIV StreetDivision\_AP@sandiego.gov 2781 CAMINITO CHOLLAS SAN DIEGO CA 92105-5039

Bill To:

STREET DIVISION 2781 CAMINITO CHOLLAS SAN DIEGO CA 92105

**Billing Contact:** 

Nora Ebert Telephone:

E-Mail: NEBERT@SANDIEGO.GOV

**SEE LAST PAGE FOR TOTAL** 

Atlas Environmental Services Inc. Vendor:

dba Atlas Tree Service 9032 Olive Drive

Spring Valley CA 91977-2301

Terms:

within 30 days Due net

**Delivery Terms: FOB Destination** 

Buyer: Ana Garcia

Telephone: 619-236-6150

Vendor ID: 10001745 Telephone:619-463-1707 E-Mail: brian@atlastree.sdcoxmail.com

**IMPORTANT!** 

To ensure prompt payments, PO # must appear on all shipments and invoices; all invoices must be directed to 'Billing Contact person at Bill-To address listed above

E-Mail: AnaG@sandiego.gov

ine#	Item ID/Description Serv # Service Descrip	Del.Date otion	Quantity/Ord UoM	Unit Price/Prc UoM Conv Factor	Extended Price
1 (	GRID PRUNING- DATE- 1-2 YRS	06/30/2018	342 EA	68.30 EA	USD 23,358.60
	PURCHASE ORDER TO FURNISH THE CITY OF S. MAINTENANCE SERICES WITHIN THE PUBLIC RIGHT #10046800-15-E, CONTRACT #4600002084. FOR THE PERIOD 9/30/17 through 6/30/18		тн		
	Update insurance as required.				
	DEPARTMENT CONTACT: SERGIO ARIAS 619-527-8036				
	BILLING CONTACT: NORA EBERT 619-527-3105 StreetDivision_AP@sandiego.gov				
	By performing the services detailed in this purchase of is entering into a contract with the City. Contractor core or she is aware of the wage provisions described her with such provisions before commencing services.  A. PREVAILING WAGES. Pursuant to San Diego Mu 22.3019, construction, alteration, demolition, repair a work performed under this Contract is subject to Stat laws. For construction work performed under this Contract work performed under this Contract cumulatively exceeding \$25,000 and for alteration, demolition, repwork performed under this Contract cumulatively excontractor and its subcontractors shall comply with Swage laws including, but not limited to, the requirement his requirement is in addition to the requirement to pursuant to San Diego Municipal Code sections 22.4 Contractor must determine which per diem rate is hig classification of work (i.e. Prevailing Wage Rate or Li and pay the highest of the two rates to their employer applies to workers who are not subject to Prevailing V. 1. Compliance with Prevailing Wage Requirements. 1720 through 1861 of the California Labor Code, the subcontractors shall ensure that all workers who perf Contract are paid not less than the prevailing rate of determined by the Director of the California Departme Relations (DIR). This includes work performed during preconstruction phases of construction including, but inspection and land surveying work.  1.1. Copies of such prevailing rate of per diem wage	ertifies that he rein and shall comply unicipal Code section and maintenance re prevailing wage antract cumulatively read and maintenance reeding \$15,000, the state prevailing rents listed below. Pay Living Wage 201through 22.4245. The store and wage Rate), rest. Living Wage Rates. Pursuant to sections Contractor and its form work under this per diem wages as rent of Industrial of the design and a not limited to,			



PO No. 4500094820

**Date:** 10/18/2017

Page 2 of 7

Line#	Serv#	Item ID/Description Service Description	Del.Date	Quantity/Ord UoM	Unit Price/Prc Uom Conv Factor	Extended Price
Line #	the City and ar request. Copie found at http:// Contractor and rate of per dier them available 1.2. The wage If the published to be paid after shall be in effer rate refers to a expiration of the on file with the effective on the this Contract in publication. If additional expirations which expiratic successive predate following last of such processive predate following last of such procession and the procession last of the worker w	service Description  The available for inspection to any interested party on so of the prevailing rate of per diem wages also may be www.dir.ca.gov/OPRL/DPreWageDetermination.htm. It its subcontractors shall post a copy of the prevailing in wages determined by the DIR refer to expiration date: a trates determined by the DIR refer to expiration date: a trates determined by the DIR refer to expiration date: a trate does not refer to a predetermined wage or the expiration date, then the published rate of wage of the life of this Contract. If the published wage predetermined wage rate to become effective upon the published wage rate and the predetermined wage rate predetermined wage rate shall become a date following the expiration date and shall apply to the same manner as if it had been published in said the predetermined wage rate refers to one or more ration dates with additional predetermined wage rates of determined wage rate shall apply to this Contract, each determined wage rate shall apply to this Contract on the expiration date of the previous wage rate. If the edetermined wage rate sexpires during the life of this wage rate shall apply to the balance of the Contract. or Violations. Contractor and its subcontractors shall adifornia Labor Code section 1775 in the event a work the prevailing wage rate for the work or craft in which mployed.  The order of the work or craft in which mployed.  The order of the work or craft in which mployed.  The order of the work or craft in which mployed.  The order of the work or craft in which mployed.  The order of the work or craft in which mployed.  The order of the work or craft in which mployed.  The order of the work or craft in which mployed.  The order of the work or craft in which mployed.  The order of the work or craft in which mployed.  The order of the work or craft in which mployed.  The order of the work or craft in which mployed.  The order of the work or craft in which mployed.  The order of the work or craft in the contractors which mployed the work or cr	ee see s. rate s. rate is with eer is with ng d ia ponsible or eer ing the ta eer 1.1, e with ent of ictor	Quantity/Ord UoM	Unit Price/Prc Uom Conv Factor	Extended Price
	California Labo liability for wor accordance wi	arm aware of the provisions of Section 3700 of the or Code which require every employer to be insured a kers' compensation or to undertake self-insurance in the provisions of that code, and I will comply with some commencing the performance of the work of this				
Notes: T	he Terms and C	onditions of this Purchase Order are available	at http://sandiego	o.gov/purchasing/	SEE LA	ST PAGE
		IMPORTANT!			_	TOTAL
To ensur directed	re prompt payr to <i>Billing</i> Conta	nents, PO # must appear on all shipmen act person at <i>Bill-To</i> address listed above	ts and invoices	; all invoices must be		_



PO No. 4500094820

Date: 10/18/2017

Page 3 of 7

Line#	Item ID/Description Serv# Service Description	Del.Date	Quantity/Ord UoM	Unit Price/Pro	Or [	Extended Price
**	8. Labor Compliance Program. The City has its own Labor Corprogram authorized in August 2011 by the DIR. The City will a contract payments when payroll records are delinquent or dee inadequate by the City or other governmental entity, or it has established after an investigation by the City or other governmentity that underpayment(s) have occurred. For questions or a please contact the City of San Diego's Equal Opportunity Con Department at 619-236-6000.  9. Contractor and Subcontractor Registration Requirements. is subject to compliance monitoring and enforcement by the Department at 619-236-6000.  9. Contractor and Subcontractor or subcontractor may be listed or proposal for a public works project unless registered with the pursuant to Labor Code section 1725.5. As of April 1, 2015, a or subcontractor shall not be qualified to bid on, be listed in a proposal, or enter into any Contract for public work, unless curegistered and qualified to perform public work pursuant to Lasection 1725.5. By performing services detailed in this purchal Contractor is certifying that he or she has verified that all subcontractors used on this public works project are registere DIR in compliance with Labor Code sections 1771.1 and 1725. Contractor shall provide proof of registration to the City upon 9.1 A Contractor's inadvertent error in listing a subcontractor is not registered pursuant to Labor Code section 1725.5 in a rasolicitation shall not be grounds for filing a bid protest or gro for considering the bid non-responsive provided that any of the following apply: (1) the subcontractor is registered prior to bid opening; (2) within twenty-four hours after the bid opening, the subcontractor is registered and has paid the penalty registratic specified in Labor Code section 1725.5; or (3) the subcontractor to fill out and file a living wage cretification with the City Manager within thirty (30) days of Award of the Contract. and health benefit rates are adjusted annually in accordance vsection 22.4220 (b) to reflect the Consumer	withhold emed been mental assistance, stracting  This project plik. As of on a bid or plik. Contractor bid or remetly bor Code is e order, discovered event of the second end end of the second end end end end end end end end end e				
2	GRID PRUNING- DATE- OVER 2 YRS  Item completely delivered	06/30/2018	230 EA	142.29	EA US	SD 32,726.70
3	GRID PRUNING- QUEEN- 1-2 YRS	06/30/2018	5,265 EA	28.46	EA US	SD 149,841.90
**	Item completely delivered					
4	GRID PRUNING- QUEEN- OVER 2 YRS	06/30/2018	3,390 EA	36.42	EA US	SD 123,463.80
Notes: Th	e Terms and Conditions of this Purchase Order are available.	lable at http://sandiego.ç	gov/purchasing/	CEE		TDACE
				SEE LAST PAGE FOR TOTAL		



PO No. 4500094820

Date: 10/18/2017

Page 4 of 7

Line#	Item ID/Description Serv# Service Description	Del.Date	Quantity/Ord UoN	Unit Price/Prc Uom Conv Factor	Extended Price	
***	Item completely delivered					
5	GRID PRUNING- FAN PALM- 1-2 YRS	06/30/2018	1,830 EA	34.16 EA	USD 62,512.80	
***	Item completely delivered					
6	GRID PRUNING- FAN PALM- OVER 2 YRS	06/30/2018	661 EA	73.99 EA	USD 48,907.39	
***	Item completely delivered					
7	GRID PRUNING- SHADE	06/30/2018	4,698 EA	73.99 EA	USD 347,605.02	
***	Item completely delivered					
8	TREE REMOVAL- DATE PALM, PER FT.	06/30/2018	54 FT	28.46 FT	USD 1,536.84	
	Item completely delivered					
9	TREE REMOVAL- QUEEN PALM, PER FT.	06/30/2018	303 FT	12.52 FT	USD 3,793.56	
	Item completely delivered					
10	TREE REMOVAL- FAN PALM, PER DIAMETER  Item completely delivered	06/30/2018	128 EA	14.80 EA	USD 1,894.40	
11 ****	TREE REMOVAL- SHADE, PER IN.  Item completely delivered	06/30/2018	1,392 IN	16.51 IN	USD 22,981.92	
12 ****	STUMP GRIND AS NEEDED  Item completely delivered	06/30/2018	3,594 IN	5.69 IN	USD 20,449.86	
15 ****	TREE PLANTING- SHADE- 15 GAL. CONTAINER  Item completely delivered	06/30/2018	767 FT	96.76 FT	USD 74,214.92	
16	CERTIFIED ARBORIST	06/30/2018	200 HR	62.61 HR	USD 12,522.00	
****	Item completely delivered	00/30/2010	200 FIX	62.61 HR	12,322.00	
17	CERTIFIED TREE WORKER	06/30/2018	598 HR	62.61 HR	USD 37,440.78	
***	Item completely delivered					
Notes: T	he Terms and Conditions of this Purchase Order are avai	ilable at http://sandiego.	gov/purchasing/			
	IMPORTANT!			_	ST PAGE	
Γο ensur	e prompt payments, PO # must appear on all ship to Billing Contact person at Bill-To address listed at	ments and invoices;	all invoices must be		TOTAL	



PO No. 4500094820

Date: 10/18/2017

Page 5 of 7

Line#	Item ID/Description Serv# Service Description	Del.Date	Quantity/Ord UoM	Unit Price/Prc Uom Conv Factor	Exte	nded Price
18	LABORER	06/30/2018	734 HR	62.61 HR	USD	45,955.74
***	Item completely delivered					
19	CRANE OPERATOR	06/30/2018	182 HR	227.66 HR	USD	41,434.12
***	Item completely delivered					
20	TRAFFIC CONTROL	06/30/2018	178 HR	62.61 HR	USD	11,144.58
***	Item completely delivered					
21	MOD- GRID PRUNING- DATE- OVER 2 YRS	06/30/2018	600 EA	142.29 EA	USD	85,374.00
***	PO MODIFICATION - #4500094820 Item completely delivered					
22	MOD- GRID PRUNING- QUEEN- OVER 2 YRS	06/30/2018	2,000 EA	36.42 EA	USD	72,840.00
***	Item completely delivered					
23	MOD- GRID PRUNING- FAN PALM- OVER 2 YRS	06/30/2018	2,000 EA	73.99 EA	USD	147,980.00
***	Item completely delivered					
24	MOD- GRID PRUNING- FAN PALM- OVER 2 YRS	06/30/2018	4,000 EA	73.99 EA	USD	295,960.00
***	PO MOD 4500094820 Item completely delivered					
25	GRID PRUNING- QUEEN- 1-2 YRS	06/30/2018	4,000 EA	28.46 EA	USD	113,840.00
***	PO MOD 4500094820 Item completely delivered					
26	GRID PRUNING- QUEEN- OVER 2 YRS	06/30/2018	1,000 EA	36.42 EA	USD	36,420.00
***	PO MOD 4500094820 Item completely delivered					
27	TREE REMOVAL- QUEEN PALM, PER FT.	06/30/2018	100 FT	12.52 FT	USD	1,252.00
***	PO MOD 4500094820 Item completely delivered					
28	PO MOD-TREE REMOVAL- QUEEN PALM, PER FT.	06/30/2018	385 FT	12.52 FT	USD	4,820.20
Notes: Ti	he Terms and Conditions of this Purchase Order are availa	ble at http://sandiego	.gov/purchasing/	SEE LA	ST	PAGE
	IMPORTANT!			FOR		
o ensur	e prompt payments, PO # must appear on all shipm to Billing Contact person at Bill-To address listed abo	nents and invoices;	all invoices must be		- •	<del></del>



PO No. 4500094820

Date: 10/18/2017

Page 6 of 7

Line#	Item ID/Description Serv# Service Description	Del.Date	Quantity/Ord UoM	Unit Price/Prc Uom Conv Factor	Exter	ided Price
***	PO MOD 4500094820  PO released NTE purchase order value or as may be modified Update Insurance and Business Tax Certificate as required. Item completely delivered	by the City.				
29	PO MOD- FAN PALM 1-2	06/30/2018	1,000 EA	34.16 EA	USD	34,160.00
***	PO MOD 4500094820 Item completely delivered					
30	PO MOD- TREE REMOVAL- SHADE, PER IN.	06/30/2018	600 IN	16.51 IN	USD	9,906.00
***	PO MOD 4500094820 Item completely delivered					
31	PO MOD-TREE REMOVAL- FAN PALM, PER DIA	06/30/2018	80 EA	14.80 EA	USD	1,184.00
***	PO MOD 4500094820 Item completely delivered					
32	PO MOD- TREE REMOVAL- DATE- 1-2 YRS	06/30/2018	100 EA	68.30 EA	USD	6,830.00
***	PO MOD 4500094820 Item completely delivered					
33	PO MOD- CRANE OPERATOR	06/30/2018	35 HR	227.66 HR	USD	7,968.10
***	PO MOD 4500094820 Item completely delivered					
34	PO MOD- STUMP GRINDING	06/30/2018	100 IN	5.69 IN	USD	569.00
***	PO MOD 4500094820 Item completely delivered					
35	PO MOD- STUMP GRINDING	06/30/2018	210 IN	5.69 IN	USD	1,194.90
***	PO MOD 4500094820 Item completely delivered					
36	PO MOD- FAN PALM 1-2	06/30/2018	1,060 EA	34.16 EA	USD	36,209.60
***	PO MOD 4500094820 Item completely delivered					
37	PO MOD- DATE PALM 1-2	06/30/2018	150 EA	68.30 EA	USD	10,245.00
	PO MOD 4500094820					
lotes: Th	he Terms and Conditions of this Purchase Order are available.	able at http://sandiego	.gov/purchasing/	SEE LA	ST	PAGE
	IMPORTANT!					
	e prompt payments, PO # must appear on all shipr o <i>Billing</i> Contact person at <i>Bill-To</i> address listed ab	mente and invoices		FOR	101	AL



PO No. 4500094820

**Date:** 10/18/2017

Page 7 of 7

Line#	Item ID/Description Serv# Service Description	Del.Date	Quantity/Ord UoM	Unit Price/Prc Uoi Conv Factor	Exten	ded Price
***	Item completely delivered					
38	PO MOD- QUEEN PALM 1-2 PO MOD 4500094820 Item completely delivered	06/30/2018	100 EA	28.46 EA	USD	2,846.00
	item completely delivered					
Notes: Th	ne Terms and Conditions of this Purchase Order are available.	able at http://sandiego.g	ov/purchasing/	Line Item Tota		931,383.7
	IMPORTANT!			Tax	\$	0.00
o ensure irected to	e prompt payments, PO # must appear on all shipr of Billing Contact person at Bill-To address listed ab	ments and invoices; a	Ill invoices must be	PO Total	\$ 1,9	31,383.73